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-2k =HE 400,000& »23 800
—Qo3)| el ¥ RFuE 200,000& =32 600
—JlEYR NRIIZE BUHD e/HI(H
1) 50,000& 123 600
—ZELAAN BA HER
60,0008 x4=+12E 2,880
N ELIESTEEPSSE L
308,000 122 3,696
—SUeE =3 3,300& 30«12 119
T} P ]
2,0002!#117kg+ 122 2,808
—wA QB YE4aE
900& *60kg*12& 648
—XYN =Y 242
300,000,000 *5%+*1.5% 225
O IOI=Hl 1,750
—SSEHAA A= 100,000 & «4H 13| 400
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SN BAANLD
HE: #HYSAAH (ZAALD)
Sl D2 B (22D (e @e
SN EB -GS - MBAY - BES 0 & 24 2| 25 04] & o HRE2
—A2A 2RSS 22=2()L2)
55,0002 <102 *13] 550
— F4H 220 22 200,008 52 <23 800
O Szl 7,560
—2AYR =W S20HA]
7,000% +36% #3038l 7,560
02 BB 71,621 54,830 16,791
O 2223 % WAl 33,926
— XS IHAI 10,0002 <2CH 200
~EIBAE 20,0002 *4CH 80
~NENRHE 1,250
=P 350,000+ 10413l 350
=B 300,000% *3CH 18] 900
—RESLR3 (YL 22021 +00021 * 122 2,376
-SoIe® 2423 1, 7502 ¥5002! 875
—sls 0182 50,0008 %25] &1 +122 1,200
—OIEUAIS 2 (DABEAIAE)
36,0008 * 122 432
—nERY=e3 225,000 13l 225
P ISt 264,0002 +23] 528
—-®@lz 2,000,0002! * 122 24,000
—yoteEE 23000024 * 122 2,760
O et 18,060
— 0I5 (Yy) 5QOR! *15M +B Al 2702 4,956
—HS () 9108 %15 +B Al 21202 3,104
O N&ZE SN 13,515
—d240] MT L SRR
3,500,000 1CH 3,500
—23Y ] el 30,0002 *40CH 1,200
—AERN 24 6,2002 * 1,836 *30% 3,415
—SIYBE R 500, 00024 *6CH 3,000
—2gAlE el 1,000, 0002 * 144 1,000
—wAe A 700,0002 +23l 1,400
O g 6,120
—REPU| 6,120
22 1,50021 %150 £ * 122 2,700
=R 1,500 %190 ¢ * 122 3,420
202 01t 43,149 40,999 2,150
01 =2U0itl 43,149 40,999 2,150
FALRET oft) 43,149
—2H§ BHOHl 20,0002 %342 x5« 128 40,800
- 22 BFO 261,0002! +38 33| 2,349
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